> restart:
> Digits:=100;
[image: image1.png]



> p:=nextprime(10^14-23476221); q:=nextprime(trunc((10^13)/2)+1231237);
[image: image2.png]p = 99000076523789




[image: image3.png]g = 5000001231257




> X:=p*q; RSAflag:=true; #ifactor(X,lenstra);   #nextprime(10^10)+2; 
> 
[image: image4.png]X = 500000005744616094750872773




[image: image5.png]



> 
> GetVal:=proc(s,x)local p; for p in s do if lhs(p)=x then RETURN(rhs(p)) fi od; end; 
[image: image6.png]Getlal = proc(s, x)




[image: image7.png]local p;




[image: image8.png]



[image: image9.png]end proc




> #press ENTER key two times
> TB[7]:=array(1..8,1..3,[[11,17,6],

                        [7,31,7],

                        [13,19,8],

                        [23,29,22],

                        [17,41,23],

                        [19,43,27],

                        [29,53,51],

                        [31,37,38]]) :

TB[11]:=array(1..8,1..3,[[7,23,5],

                         [13,17,7],

                         [11,31,11],

                         [19,29,18],

                         [17,43,24],

                         [23,37,28],

                         [29,49,47],

                         [31,41,42]]) :

TB[13]:=array(1..8,1..3,[[7,19,4],

                         [11,23,8],

                         [13,31,13],

                         [17,29,16],

                         [19,37,23],

                         [23,41,31],

                         [29,47,45],

                         [31,43,44]]) :

TB[17]:=array(1..8,1..3,[[7,11,2],

                         [13,29,12],

                         [19,23,14],

                         [17,31,17],

                         [11,37,13],

                         [23,49,37],

                         [29,43,41],

                         [31,47,48]]) :

TB[19]:=array(1..8,1..3,[[7,7,1],

                         [13,13,5],

                         [17,17,9],

                         [11,29,10],

                         [23,23,17],

                         [19,31,19],

                         [29,41,39],

                         [31,49,50]]) :

TB[23]:=array(1..8,1..3,[[11,13,4],

                         [7,29,6],

                         [17,19,10],

                         [23,31,23],

                         [13,41,17],

                         [19,47,29],

                         [29,37,35],

                         [31,53,54]]) :

TB[29]:=array(1..8,1..3,[[7,17,3],

                         [11,19,6],

                         [13,23,9],

                         [29,31,29],

                         [17,37,20],

                         [19,41,25],

                         [23,43,32],

                         [31,59,60]]) :

TB[1]:=array(1..8,1..3,[[7,13,2],

                        [11,11,3],

                        [19,19,11],

                        [17,23,12],

                        [29,29,27],

                        [31,31,31],

                        [13,37,15],

                        [23,47,35]]) : ; 

printlevel:=0 :

#Digits:=1000 : ;

P:=X mod 30; U:=X mod 9; 

N:=trunc(X/30); 

if P=1 then 

  N:=N-1 

fi;

if ({P} intersect {1,7,11,13,17,19,23,29}) = {} then 

  print(`This number does not belong to the joint-series!`)

 else

  I9:=X mod 9;

  flag:=true; 

  for i from 1 to 8 do 

    A:=TB[P][i,1]; 

    B:=TB[P][i,2];

    V:=TB[P][i,3];

     J:=trunc((sqrt((A+B)^2+120*(N-V))-(A+B))/60); 

    #sol:={isolve({(A+30*x)*(B+30*y)-X=0})};

     sol:={isolve({V+A*y+B*x+30*x*y-N=0})};

    for s in sol do      sX:=GetVal(s,`x`);

      sY:=GetVal(s,`y`);

      if (sX>=0) and (sY>=0) and (sX<=sY) then

        flag:=false;

        print(30*sX+A,30*sY+B);

      fi;

    od;

#    if (((A*B) mod 9) = I9) then

#      J:=trunc(((sqrt((A-B)^2+4*X))-(A+B))/60); 

#      if RSAflag then 

#        START:=J; FINISH:=0; STEP:=-1;

#      else   

#        START:=0; FINISH:=J; STEP:=1;

#      fi;

#      for L from START to FINISH by STEP do 

#        if (X mod (A+30*L)) = 0 then 

#          flag:=false; 

#          Z:=X/(A+30*L);

#          print(A+30*L,Z) 

#        fi; 

#      od; 

#    fi;

  od; 

  print(X, `if`(flag,` prime`,` composite`));

fi;
> 
> 
> 
[image: image10.png]13




[image: image11.png]



[image: image12.png]N = 1666666628581 53269825029092




[image: image13.png]5000001231257, 999009765237389




[image: image14.png]500000005744616094750872773, composite




